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e Please check that this question paper contains 16 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,
the students will read the question paper only and will not write any
answer on the answer-book during this period.
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HTHTT (3397
() 39 YILYT HI @ Y, YT oF 7K YT &, H §ier T 8 | 379! Gl 9rn &
Yol & I for@d & |

i) @Y IoT S F

(iti) @ IvEYT G B 397 § I 797 319 781 8 |

(iv) STTH YFT 3 IR YT T F T T & I GAG-JUF 9T P IR T
foraa & 1

(v) YT H P I G 1 T3 F 97 Uh-Uk 3% & 3 | 399 3] Uk Jeg YT
THETFTH G |

(i) YT H F T G 4 T 6 F I7 J-31 P F & | FH IFW TTYT
30 5l H 377/

(vii) YFT 37 & J97 &1 7 & 18 & o7 diH-al4 37H & & | 599 I T
50 1551 H 373 /

(viil) 97T 37 & Y97 &I 19 T 24 3 F¥7 Gie-qid 37H & 5 | 7% IH TTHT
70 3551 H 37 7/

(ix) YT § & 597 &1 25 & 33 & Y7 JAVIIcHS B9 R SATIRG Fglahed] Jo7
g | yrd% 97 Uk 3% HT 8 | 130 WY WK faheql § @ 3719 dacT Th T
ITTH [dHY AT & |

(x) YT § & J97 G&IT 34 T 36 F I JANTIcHE HITT T FTERA q1-3T bl &
Y978 | 59 IR GRIg 7 37 8 /

General Instructions :

(i) The question paper comprises two sections, A and B. You are to attempt
both the sections.

(it)  All questions are compulsory.
(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Question numbers 1 to 3 in Section A are one mark questions. These are
to be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two marks questions. These are
to be answered in about 30 words each.
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(vii) Question numbers 7 to 18 in Section A are three marks questions. These
are to be answered in about 50 words each.

(viit) Question numbers 19 to 24 in Section A are five marks questions. These
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two marks questions based on
practical skills. These are to be answered in brief.

T A
SECTION A

1. UeehTsHl oh! THSIAE S0t < Tgel HEEd ol 10 37 ITeh! 3TTvaeh g foifan | 1

Write the name and molecular formula of the first member of the
homologous series of alkynes.

2. W FRE? 1
What is DNA ?
3.  TTehideh UTRAH o Gl 3aTeLUNl shi = SIS | 1

List two examples of natural ecosystem.

4. AR TG Eiweht I § TEIN T ST T HIfT | 2

Draw a labelled diagram to explain the formation of a rainbow in the sky.

5.  TTohideh TGl o HUING Je-ed o & oW fIRaT | I3 TR gH:=Eh0 |
o HIF-H1 SEH 7 I A ? 2

Write two advantages of sustainable management of natural resources.
Out of the two — reuse and recycle — which is better and why ?

6. A % WM I h ®Y H GO o IR ATHI hl AT TR | 2

List four advantages of conserving water in the form of ground water.

31/2/3 3 P.T.O.
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7.  TAATA I MG g HoSO4 H 443 K A9 W TH & W a4 Il ATk
T iR T g fafae | 5@ erfufsean & g HoSO4 1 o gftre 8 2 89
qreft SAHsHAT sl TETE S FHieRtr | ST | 3
Write the name and structural formula of the compound formed when
ethanol is heated at 443 K temperature with excess of conc. HySO4. What
is the role of conc. HySO,4 in this reaction ? Also give the chemical

equation for the reaction.

8. e AMEh & THAIHS g & o1 a0l g ? Fefdiea Afee &

FLEATCH 3R Ik TehTcHeh HHg i NIl o €9 § fARaT : 3
(i) T
(i) URATsHh 3T

What is meant by functional group in carbon compounds ? Write in
tabular form the structural formula and the functional group present in
the following compounds :

(1) Ethanol
(i1) Ethanoic acid

9. TR TA P, Q,R AN S MYHH 3Tad AR o & AEd b 9T & a1 b
STEIAH hIST H Soiari-l ohl T&AT ShAS: 1, 3, 5T 78 | Q AN R o TRHTIA
1 AR fo=me forget 3eht Tistehar faffa Hife | P ik S& T 9
T g1t Afies 1 Afveas g faaRaw | 3

Four elements P, Q, R and S belong to the third period of the Modern

Periodic Table and have respectively 1, 3, 5 and 7 electrons in their
outermost shells. Write the electronic configurations of Q and R and
determine their valences. Write the molecular formula of the compound

formed when P and S combine.
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10.

31/2/3

d= & wreft § B 9@l A, B, C, D, E 3R F & feafaat snyfes o1mad
qrof o geh feufoat o argEm & s ¥

e
—> 1| 2 [3-12 |13 |14 | 15| 16 | 17 | 18
wad
2 A B C D
3 E F
ITYh ARl o SR W FH=fIRad Jet & W ST - 3

() 39 aw & 9W e S had TgESs Afien S92 |

(i) 3" a0 %1 W faRae fSaht Gearsear €9 2 R a8 a1g B |
(iii) 39 awa &1 AW foafay freeht Tarstehar €9 8 R a7 3141g 8 |
(iv) B3 C T fruehl weam) Breen a1t 8 o == 2

(v) a@ D3R F @ ufar & gg= € 3ust am= am fafgu |

In the following table, the positions of six elements A, B, C, D, E and F
are given as they are in the Modern Periodic Table :

Group
-1 2 3—12 | 13 |14 | 15 | 16 | 17 | 18
Period {
2 A B C D
3 E F

On the basis of the above table, answer the following questions :
) Name the element which forms only covalent compounds.
(ii1) Name the element which is a metal with valency three.

(i1i) Name the element which is a non-metal with valency three.
(iv)  Out of B and C, whose atomic radius is bigger and why ?

(v)  Write the common name for the family to which the elements D
and F belong.

5 P.T.O.
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11. G T AR 1 HHO W o 7T Fhelt g7 61 S -F1E 1 3IR@
Wifew R 394 (i) VS, (i) R JWeh, (iii) TS JUH qAT (iv) SiSUg 1
TR FHIRTT | 3
Draw a diagram of the longitudinal section of a flower exhibiting
germination of pollen on stigma and label (i) ovary, (ii) male germ-cell,

(iii) female germ-cell and (iv) ovule on it.

12. IRk Yag o feregl a9 @i bl s3I hifa | 3
Explain any three advantages of vegetative propagation.
13. TAU AT 8 ? HHGEl H 9k 1 hl SATEAT <hIFT | 3

What is placenta ? Explain its function in humans.

14. “Ton wvd g 6 I A0 SR O 1 ST 9i=g o<k 7 & 91T |7 39 A h
e Toh I I <Rl HIT | 3
“It is possible that a trait is inherited but may not be expressed.” Give a
suitable example to justify this statement.

15.  “Terelt 3Ter < T319] ST TR <A@ AIET BT AT TN 8 |7 U YA 3G Tideht
39 %Y hi g i | 3
“It is a matter of chance whether a couple will have a male or a female
child.” Justify this statement by drawing a flow chart.

16. i o fhEl UU % ya ¥ HHa hl SATA P 20 cm §H W TR 3
wfcferea 1 G901 & 80 cm ¥ W Teor 9 W waifid e =mea 7 | 3
() B FE THR &1 T I HET =Y 2
(i) 99 a1 it sl 3TEE JTd hIfT |
(i) fora 3T 3He wlife o &= i gt F@ HiT |
(iv) 38 Joptul H Sdfems s=A1 g9r o fofu wes foptor o Eiaet forar 3ii

% it % s 1 g0 siftea IR |
A student wants to project the image of a candle flame on a screen 80 cm
in front of a mirror by keeping the candle flame at a distance of 20 cm
from its pole.
1) Which type of mirror should the student use ?
(i)  Find the magnification of the image produced.
(iii) Find the distance between the object and its image.

(iv) Draw a ray diagram to show the image formation in this case and
mark the distance between the object and its image.
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17. W §iey den fodifad g@ied @ &1 aedd § ? 59 gNEeHIstl ol ATHifha
3@ Giaw T HIfT | 3

What is meant by advance sunrise and delayed sunset ? Draw a labelled
diagram to explain these phenomena.

18.  “ITER @l § HoA1 YaT8 Hed Ui Bl & |7 38 H9A i gfee Hifvw |
Tose I foh digeh el fohE TR S8R sJ@asti § Jo¥l Hieh gAR IRN H
RS 3
“Energy flow in food chains is always unidirectional.” Justify this

statement. Explain how the pesticides enter a food chain and
subsequently get into our body.

19. SIfI-3¢Wa T 7 ? AMd-3g9d H FgRIeh IR I hl FI S5 | 7 Hiehi |
¥ HE-E W[ TR o didl o J0-3gHd 1 Y@ wk Al @l
Thdl ? T HIWT | 5

What is speciation ? List four factors that could lead to speciation. Which
of these cannot be a major factor in the speciation of a self-pollinating
plant species ? Explain.

20. (a) feu U SR@ H A, B, C 3R D ! Yg=1T 37 3k 7 foifau |

(b) YT Toh8 HhEd & ? SHRT Hewd THETSY |
() 9o § Tyu=m 1 ufsham @WesT | 59 % 39 W @1 AW fofEe S

= & qvEmq

i) e o foesfid B g,

(i) wd H efaa g1 St @ | 5
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Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

(a) Identify A, B, C and D in the given diagram and write their names.

(b)  What is pollination ? Explain its significance.

(c) Explain the process of fertilisation in flowers. Name the parts of
the flower that develop after fertilisation into

1) seed,
(i)  fruit.
21. Torelt <9 ) gmdr 9 7 9 B 2 $HeR UHLITE. (S.1) A 1 @ 2 TRy

TR h Y hl &HAT AT B & 2
Hi3 o forfl fora o1 arEdfass, It 3 THH R (A1ES) &1 Tfdfera g
" 40 cm 8 T SAMT @ | 9 I Wepld I GHAT 91 7 ? U I H G
o feptor s i | 5
What is meant by the power of a lens ? What is its S.I. unit ? Name the
type of lens whose power is positive.
The image of an object formed by a lens is real, inverted and of the same
size as the object. If the image is at a distance of 40 cm from the lens,
what is the nature and power of the lens ? Draw ray diagram to justify
your answer.

22. i3 D Jadd UV gHT HIHS] shl SATAT o1 fdfeiesl Jad Ue X hiehidd hidl

7 | uitfefa = fou e e1gEm R 5
SITAT <hl AFITE = 1-5 cm
E&Wﬁ@ﬂw‘&[@:&cm
Wﬁ?&ﬂﬁ@:lScm

Jfg SaTeAT g o &I A o A 8, Al MEfTRad ol TNt iy

(a)  wifear < 9o § gt

(b)  Yfcfers st oS

Il Sarert 1 gl ¥ gl 10 cm W & WY, q1 9§ W HAT QWS S ? I I

&1 gy s uffeafa & fore fomor sma e Fifste |
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A student has focused the image of a candle flame on a white screen
using a concave mirror. The situation is as given below :

Length of the flame = 1-5 cm
Focal length of the mirror = 12 cm
Distance of flame from the mirror = 18 cm
If the flame is perpendicular to the principal axis of the mirror, then
calculate the following :
(a)  Distance of the image from the mirror
(b)  Length of the image
If the distance between the mirror and the flame is reduced to 10 cm,

then what would be observed on the screen ? Draw ray diagram to justify
your answer for this situation.

23. TMd 97 & FHAfAREd Icdsh 9T 1 S faRau 5
(i) i
(i)  gRdTiE
(iii) ~ gdelt
(iv) e

forerrasiier es & U<l sufth wifdan Fudar 9 difsa 2 | 38 T sl FEE gl
TTed Shi-aT & TR H 3ieh ohaT ST Hehal & | STTehT oo™ 39 42 & a1
H STTEhdl 3099 i R g oh IvETd @Ml GAeH & e UG wE H
3T § foume™ R 39+ uSi™ # IR el W1 R | 379 A9 HguISal o
a1 iRt 39 qu i H fohE TR AT SR Tehd @ ? formeri g 39 TR
& AT & I & 32T fafau |

State the function of each of the following parts of the human eye :
(1) Cornea

(i)  Iris

(iii))  Pupil

(iv)  Retina

Millions of people of the developing countries are suffering from corneal
blindness. This disease can be cured by replacing the defective cornea
with the cornea of a donated eye. Your school has organised a campaign
in the school and its neighbourhood in order to create awareness about
this fact and motivate people to donate their eyes after death. How can
you along with your classmates contribute in this noble cause ? State the
objectives of organising such campaigns in schools.

31/2/3 9 P.T.O.
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24. 3 AfH I 917 I YT HATSTRAT HIT B FAFEH YT Hih T
3ThT B Hh IcPT W Soagi-eh [o=aTH I id § | RV od §T ©E
FIfe foh wrel 79 ANfireni o fmior o 39 yR #1 o= 3w fafa @ i =
g S Gehdl | ARIMAS Al § 999 9Tal 3Tey 3R shieq At § &4
ATEY & ThRI o AW fARgu | R afzgd I8 ft oz Sifve o o A
AT foeld < Fereish = B | 5

Elements forming ionic compounds attain noble gas electronic

configuration by either gaining or losing electrons from their valence
shells. Explain giving reason why carbon cannot attain such a
configuration in this manner to form its compounds. Name the type of
bonds formed in ionic compounds and in the compounds formed by
carbon. Also explain with reason why carbon compounds are generally
poor conductors of electricity.

R IRINC)
SECTION B

25. ol B A Faac qUU R SERTITST o ey ot W Tl Hiwech i 9T
ew wfifors o Wyt fepan | figres 3 quor <Al wiekE gl 1 AR Al
fehean A W S W foiw 38 T % Tiafera ®l UG T BIhd B hI
e T | 39 B H1 F1 ST =@0E ? 1

(A) U 1 9 ¥ gL AR =TT |

(B) U &I Ug hl AR TLHMT =M |

(C) TUur 3R U< gl sl g <l 3T THMT =M(ET |
(D)  hadt U I & I I 3 TRMAT =T |

A student obtained on a screen the sharp image of a candle flame placed
at the farther end of laboratory table using a concave mirror. For getting
better value of focal length of the mirror, the teacher suggested to him to
focus the sun. What should the student do ?

(A)  Should move the mirror away from the screen.
(B) Should move the mirror towards the screen.
(C)  Should move the mirror and screen both towards the sun.

(D)  Should move only the screen towards the sun.

31/2/3 10
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26. I W@ < Bipd gt Fuifd wd @y A oW grn feel grew fas
gfdfers 96 W BIhfHd i BT TIE B & | 9o W S a1l I8 Tfdfe,

o & @& Sar BT =iET 2 1
(A)  Hiar 3R 95d Bl
(B) Hium 3R w1

(C) 3l IR F1
(D) 3 IR gd Bl

While determining the focal length of a convex lens, you try to focus the
image of a distant object formed by the lens on the screen. The image
formed on the screen, as compared to the object, should be

(A) erect and highly diminished
(B)  erect and enlarged

(C) inverted and enlarged
(D) inverted and highly diminished

27. = ST U IR @l ® & fhaw wia & T5W 9 e arelt Jehrer R 1 9y
& 1 Y A TR ? 1

(A) (B)
(®) (D)

31/2/3 11 P.T.O.
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28.

31/2/3

In which of the following four diagrams is the correct path of a ray of

light passing through a glass prism shown ?

(A) (B)
C) (D)

i o ATIATHR Toie Y TR aTelt Tehrer fohtor &1 q9r Sqifgd & & o fi=

TR 778 IR ITNTTeh SIaeqisli § ¥ a8 Jaedql -4t § ? 1
(A) (B) (©) (D)

Which of the following is the best experimental set-up out of the four
shown for tracing the path of a ray of light passing through a rectangular
glass slab ?

-

(A) (B) (&) (D)

12
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29. I3 BF IR WA I, II, 111 3T’ IV T, Y% § 4 mL ITHd ST oot 398
IR i deu — wEHel! IH NaCl, ®@Aelt ITH CaCly, W@=e 11§ MgCl,

3R TEHelt IV H KC1 h! G0  HET 9iedl 8 | 39eh 9991 98 Yoo q@-al o
feu T | o 91 Hi 8 S TRt wEHe H 't w10 IR o 7 |

el TREHTeTl | WL ST & 2 1
A) IaTIl

(B) IIalll

) Ialv

(D) IId9IV

A student takes 4 mL of distilled water in each of four test tubes I, II, III
and IV, and then dissolves an equal amount of four different salts namely
NaCl in I, CaCl, in II, MgCl, in IIT and KCl in IV. He then adds 8 drops
of the given soap solution to each test tube and shakes the contents of the
test tube 10 times. In which test tubes will enough lather (foam) be

formed ?

(A) TandII
(B) IIandIII
(C) TandIV

(D) IIIandIV
30. I3 B UHIEH A hl T §g Ul ol forewd o T AR fR ara forema

U W STAdT 8 | 98 Tg J&T07 T Tk 1
(A) @ag%mmt@q@m%ﬁﬁmwﬁﬁéqﬁaﬁqﬁ
|

(B) A foreng g3 e g1 Arar & 3 Fren fotens 19 o 81 AT ® |

(C) o forenm v | g ufadd T8t gar 3R e forena w3 o< 81 S
2|

D) it oreqw v #§ w8 yfgdq 781 gar 3R o forens w3 fiem & S
2|

A student puts a drop of acetic acid first on a blue litmus paper and then

on a red litmus paper. He would observe that

(A)  the red litmus paper turns colourless and there is no change in the
blue litmus paper.

(B)  the red litmus paper turns blue and the blue litmus paper turns
red.

(C) there is no change in the red litmus paper and the blue litmus
paper turns red.

(D) there is no change in the blue litmus paper and the red litmus
paper turns blue.

31/2/3 13 P.T.O.
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31. WU TSI 1 AR Hd THT BT gRT Al 6l T3 Fo fewfort

EIERARIES 1
(1) g SR 3TEAl T 4 B |
) arfufsean g it et yfa 2 |
(III) 38 ATfshaT T AT 1 AT FidT 8 |
(IV) 35 afwfsran Serefietor stfvfshen & 2 |
T O gg fewfori et g 2
(A) had I 3R III
(B) I, II3MW III

(C) 1L, III 3R IV
(D) had I3 II

While studying saponification reactions, the following comments were
noted down by the students :

D Soap is a salt of fatty acids.

(II)  The reaction mixture is basic in nature.

(III)  In this reaction heat is absorbed.

(IV) This reaction is not a neutralisation reaction.
Which of these are the correct comments ?

(A) TandIII only

(B) I, IIandIII

(C) I, IIandIV

(D) TIandIIonly

32. Tt weam ©, ool & faftm Sl & U U9 Y@ & HEl &
Hiedl/AaTsel/ =t 1 &0 HUAT TN | JU o ITAT BET A qHA TLEHTSAT
% ffafad g s | @& a9 1 g 1
(A)  ueft qern foaeft & 1@
(B) e 3R THCE % T
(C) faaeft 3R IwTeS & @
(D) T, S T Sl & 3T

31/2/3 14
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In a class, students were asked to observe the models/slides/pictures of
the skeletons of forelimbs and wings of different organisms. After the
observations the students made the following groups of homologous
structures. Select the correct group :

(A)  Wings of a bird and a butterfly
(B)  Wings of a pigeon and a bat
(C)  Wings of a butterfly and a bat

(D)  Forelimbs of a cow, a duck and a lizard

33. Toreht B & Wt & iF & Y1  fafi vmT @1 e e o fow wa
39 TN % IMaweh =wor e fow mw g 1
(I) e &l i foasg 9t | forment o Ta a6 ot & i |
AD) o i 1 e 3T gEes fafie W v Jer i |
(III) T U feur & 3o Het & it <fifor |
Iv) srfafeh st @t e dfsre | st o i gt Fae | @ W T A

& fou W@ & s 4w |
S < T Tl A B
(A) 1L L IV, II
(B) LIV, 1I
(C) MLLIILIV
(D) IILIL 1L, IV

A student is asked to study the different parts of an embryo of pea seeds.
Given below are the essential steps for the experiment :

D Soak the pea seeds in plain water and keep them overnight.
(IT)  Cut open the soaked seed and observe its different parts.
(ITI) Take some pea seeds in a petri dish.

(IV) Drain the excess water. Cover the seeds with a wet cotton cloth
and leave them as it is for a day.

The correct sequence of these steps is
A IILIL IV, II
B) ILIV,ILII
(©) IL LIL IV
(b)y IILILILIV
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34. I3 BH 8:0 cm T foFa 20 cm BIHH gl TohHl 3T oW * I&T JW *
e @l @ | T 1 oF € gl 30 cm W@ 98 ©E % gE 3R UG W
fora w1 ite gfdfers oo LT @ | 96 WX TS Siifes shi Yepfd (3w, Hie
foaf¥ia, Ster) F R 2 319 I I gfE & fou foror o difem | 2

A student places a 8:0 cm tall object perpendicular to the principal axis of
a convex lens of focal length 20 cm. The distance of the object from the
lens is 30 cm. He obtains a sharp image of the object on a screen placed
on the other side of the lens. What will be the nature (inverted, erect,
magnified, diminished) of the image he obtains on a screen ? Draw ray

diagram to justify your answer.

35. I3 B UHIEH TFA o TUIHT T NI H L@ B | 3Th gHI J&au fohu I
e THifesh o & 1 Wifaes Turedt Y g SIS | W 98 39 v H Uk
Teoh! WfeAT B3gIoH HIate T 8 aa o1 i1 3 2 i o Jeqor fafaw | 2

A student is studying the properties of acetic acid. List two physical

properties of acetic acid he observes. What happens when he adds a pinch
of sodium hydrogen carbonate to this acid ? Write any two observations.

36. I3 B A H GpeH g1 FAfS ST o fIfte =won o wmh wise o

el g <& @ & | 98 TES U Sl $® @l & 3 RE@ Fiaet (HHAR)
3T | 2

A student is viewing under a microscope a permanent slide showing
various stages of asexual reproduction by budding in yeast. Draw
diagrams of what he sees (in proper sequence).
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